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Instructions

* Use black ink or ball-point pen.

« Fill in the boxes at the top of this page with your name, centre number and candidate
number.

* Answer all questions.

* Answer the questions in the spaces provided
- there may be more space than you need.

« Calculators may be used.

« If your calculator does not have a 1 button, take the value of rto be 3.142 unless the
question instructs otherwise.

Information

» The total mark for this paper is 60.

* The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

» Questions labelled with an asterisk (*) are ones where the quality of your written
communication will be assessed
— you should take particular care with your spelling, punctuation and grammar, as well as the
clarity of expression, on these questions.

Advice

» Read each question carefully before you start to answer it.
» Keep an eye on the time.

» Try to answer every question.

» Check your answers if you have time at the end.
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Answer ALL questions.
Write your answers in the spaces provided.

You must write down all stages in your working.

Marta asked some students how many cans of drink they each drank yesterday.

The table shows her results.

Number of cans 2 Frequency £ 'F,'x-c.
0 6 O
1 9 9
2 7 I %
3 3 9
4 2 8
5 1 5

Work out the total number of cans these students drank yesterday.

2‘30,( = O 4 MT+2x7 2B+ <2 + 5
= O% R % e G FEFS

- g

(Total for Question 1 is 2 marks)




*2.

Mrs Collins is organising a school trip.
120 students are going on the trip.

The ratio of the number of staff to the number of students must be 1 : 15

Mrs Collins books three coaches for the trip.
Each coach has 42 seats.

Are there enough seats for all the students and staff?
You must show all your working.

1o .5&@‘:»&
15 o e ks Seacker

= B éa_cfé.e/s retug‘reAQ

120 Shdeks + 8 skff = (28 pespls

“esclezr (28 Seak .

(Total for Question 2 is 4 marks)




Here is a five-sided spinner.

The table shows the probabilities that the spinner will land on 1 or 2 or 3 or 4 or 5

Number 1 2 3 4 5

Probability 0.15 0.20 0.10 0.25 0.30

Pete spins the spinner once.
(a) Work out the probability that the spinner will land on a number greater than 2
P(>2) = P(z3) + P(®) +P(3)
= O + .25 +to:2
=< .65

O-£5
(2)
Elinor is going to spin the spinner 200 times.
(b) Work out an estimate for the number of times the spinner will land on 5
OB xwloo = 6O
............................ S e
)

(Total for Question 3 is 4 marks)




*4,

Debra and Mark are planning to go on a cruise.
They can travel with one of two companies, Caribbean Calypso or Royal European.

The table shows the c-oso travel with each company.

Type of cabin
Inside | Outside |  Batcony
Cost per Caribbean Calypso | £1136 m £1529 | £2329
person | Roval European 003 | £1263 | £1484 | £2147

Caribbean Calypso has a discount of 10% if you book online.
Royal European has a discount of 5% if you book online.

Debra and Mark are going to book a suite for their cruise.
They are going to book online.

Debra and Mark want to pay the lowest possible cost.
Which company should they choose?
You must show all your working.

C_:C‘-ﬂ'ééefu—. G%fia :

L2829 fpcacn = 2pesple % ©F =£4/92.2
/

éog@f Ecrcpea :
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/
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71&7 Shodd dinasc o orel Ecrspece .

(Total for Question 4 is S marks)




5.

Here are the heights, in cm, of 20 sunflower plants.

73 84 78 96 98 84 11 - 93 71 104
81 92 95 103 100 96 87 91 88 96
(a) Draw an ordered stem and leaf diagram for these heights.
U saedced - 713 58}
gle 4 7 B8
G|6 832 %5 61 &
el e 3 D
Ctasiarni By o
T d 288 (3)
gl 94 7R (=)
qli 2 % € £ 6 6L.¥% (<)
19 & -+ 3 4
Key: 7{' tpesanS 7 cna
Acd&t'-/'
3)
(b) Find the median height. HE=2, Sy acd,
............................... cm
Aicheioy = 2+95 - Go.¢ (1)
2.

(Total for Question 5 is 4 marks)




Water is leaking out of two containers.
The water started to leak out of the containers at the same time.

The straight line P shows information about the amount of water, in litres, in container P.
The straight line O shows information about the amount of water, in litres, in container Q.
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(a) Work out the gradient of line P.

MO SR
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One container will become empty first.

(b) (i) Which container?
You must explain your answer.

[;54.41..)_1 Lo P eovlascs O*&Au b, FO

(ii) How much water is then left in the other container?

............................... litres
)

(Total for Question 6 is 4 marks)




%

Each year group in a school raised money for charity.

The incomplete table and pie chart show some information about this.

Complete the table.

Year Group Amount raised
e
8 £225
? E/37.32.
10 £125
11 £162.50
£900

(= 9.% X‘EQQ-)

900 - (25> 225 +125
+ JE2.8) = B7S

(Total for Question 7 is 3 marks)




8.

The cumulative frequency graph shows information about the heights of some hollyhock plants.
Y
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(a) Find an estimate for the median height. 38 P‘.-.,&
88/%: 4 ¥
cf=94, Lt = 827 S
€ [92 64 83 cllswe 56T (1)

(b) Work out an estimate for the interquartile range.
Fogh c,’wf?& 88&/¢ s a wPL
Vhent ?L‘”Ue %_“83.3 66‘} Ry = 8é6-3

52
(8RR = O o AR e T RSO T - e R S G S SRR cm
. CeA /10 elswsdle] (2

(c) Find an estimate for the number of hollyhock plants taller than 90 cm.

78 poets crc S 0 cuy licgll
R —78= to pl.bk o

............................................................

(Total for Question 8 is 5 marks)
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9.

In a newsagent’s shop, the probability that any customer buys a newspaper is 0.6
In the same shop, the probability that any customer buys a magazine is 0.3

(a) Complete the probability tree diagram.

buys
newspaper

does not buy
newspaper

does not buy
magazine

@)

(b) Work out the probability that a customer will buy either a newspaper or a magazine but not
both.

4 CW AND ne unﬁa.z,u:ﬂ)“f”g)(ﬂﬁ#c-‘)wy ANO 41.-3:,&.:()

= O.bxe.7 + 0.4x 0.}
= o.42 ¢ do.12
= N 5%

Oo.SE

(Total for Question 9 is 5 marks)




10.

Daniela works in a shop.

Daniela served 50 customers in the morning.
She served 75 customers in the afternoon.

The mean time to serve 50 customers in the morning was 48.7 seconds.
The mean time to serve all 125 customers was 50.2 seconds.

(a) Work out the mean time to serve the 75 customers in the afternoon.

lef' eﬂ"m«aﬂ el de léZ_.e -‘:-‘.('3{‘(.

'ﬁﬂ_—‘_x P
SewdB? £ PG . S8 b sht fae

[ o Aendbs, 5% Cc....sLu-:td

e 29435« 7S e = 8-2x(25 = €275
TS = E27S —2¢3S = 3%
3e= THO \
— Se-.C 3=c
...................................... 5/2‘ seconds
3)

For the 75 customers served in the afternoon

the least time was 18 seconds

the greatest time was 96 seconds
the median time was 56 seconds
the lower quartile was 32 seconds
the upper quartile was 72 seconds

(b) On the grid, draw a box plot for this information.

80 % 100

3
(Total for Question 10 is 6 marks)
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11. Raul is the manager of a restaurant.
He wants to find out how often local people eat in a restaurant.
Raul is going to carry out a survey using a questionnaire.

(a) Design a suitable question for Raul to use on his questionnaire.

MO RN
2

() { Bevaore

2
(b) The two-way table shows information about the ages of the customers in Raul’s restaurant
one evening.
Age (years)
Total
0-16 17-30 31-60 over 60
Male 8 17 20 55
Female 7 9 22 34 Ta
Total 15 19 39 54 127
Raul carries out his survey using only these customers.
He uses a sample of 50 of these customers stratified by gender and by age.
Calculate the number of males aged 17-30 in his sample.
‘ O .

He aceds %XS"D'—‘"— 2937 2 ¢ S (s

S'O-—u.g(;(g :



Raul’s survey is biased.
(c) Give two possible reasons why.

...........................................................................................

66/3,@@—(0‘2{"&? .

(Total for Question 11 is 6 marks)
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12. The table gives some information about the distances, in miles, that some men travelled to work.

Clys N | Distance (d miles) | Frequency Freq . c a
= 0<d<5 15 5 =3
= 5<d<10 17 76=3-4
/O 10<d<20 10 % = |
T 20 <d <30 6 % = o6
2. 30<d <50 2 2o = O

(a) Draw a histogram for the information in the table.

i
4

:;;cq e ==
posc

(e faitke) %

3
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The histogram below shows information about the distances, in miles, that some women
travelled to work.

20 30

x women travelled between 10 gad 20 miles to work.

(b) Find an expressionin terms of x, for the total number of women represented by the
histogram.

2¢e¢ x2cea, = ¢Cu.¢zr:p,cse.~h P SO ouclee

“G'erg-q_ = Bx(+ S bxl+2%2L 4 0-8x2 ¢ o.2x 4
= 2064;,:'

!MMLVJ# OCoaney = %*‘ﬂ

..............................................................

(Total for Question 12 is 5 marks)

17



13. Isobel plays a game against Eric.

Isobel is twice as likely as Eric to win the game.
The probability that the game is drawn is 0.1

(a) Work out the probability that Eric wins the game.

P(En< sl = 2
Pkl ouu) = D

2¢< + 2+ =
33(.-‘:(3.?1 =W,

..............................................................

Isobel and Eric play the game three times.

(b) Work out the probability that all three games are drawn.

DI x O} we O.] = 6.0/

18



(¢) Work out the probability that Eric wins at least one of the three games.

PUEL domsnpbisin) = =002 =P i mail Jeme

P(E%'C— diir sl wutia Mjgtw) = O0T7wo. 7%/
= & 343

=0, 6597

3
(Total for Question 13 is 7 marks)

TOTAL FOR PAPER IS 60 MARKS
END

19



